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Topic:- General Knowledge

1) Kaziranga National Park is famous for which of the following animals? /

ST AP FeqH oy e & forg frema &2
1. Elephant / g1t

2. Lion / qR

3. Tiger / ST

4. Rhinoceros / TiaT

Correct Answer :-

« Rhinoceros / AT

2) In 1948, Constituent assembly appointed the Linguistic Provinces Commission which was headed by: /

1948 T, TIAYTH TUT A HUTOTE Wid ST 3 Fgert 3t et Aged 3979 gR1 far war T
1. Justice S.K. Dar/ TCITC{'JI% Tg. *. R

2. Jawaharlal Nehru / STATER AT A8

3. Pattabhi Sitaramaiya / tIET'J-ﬁ iR

4, Sardar Vallabhbhai Patel / TdRGRR Wﬂ-ﬂ‘s‘ ued

Correct Answer :-

. Justice S.K. Dar / <[ TH. &. &R

3) The Gun Carriage Factory is located in which district of Madhya Pradesh? /
Heg uew ¥ by o # 791 Siver badt R 2

1. Ujjain / S50

2. Jabalpur / SIdeTYR

3. Gwalior / TdTfeRR

4. Bhopal / wara

Correct Answer :-

« Jabalpur / SIFTYR

4) The Nandna printed fabric is commonly worn by which tribe of Madhya Pradesh? /

Hmﬁﬁqmmﬁﬁﬁwﬁza?mm%?



1. Korku / W

2. Halba / Gedl
3. Bhil / Hid
4. Baiga /ST

Correct Answer :-

. Bhil / ¥t

5) The 5" ‘Nadi Mahotsava’ on Mar 2018 was held in which district of Madhya Pradesh? /
ey & e R & ure 2018 F 5 T 78} w@hewar amafra foa man um?

1. Shivpuri / W

2. Hoshangabad / E?I'W

3. Satna / Hd-Tl

4. Bhind / fH$

Correct Answer :-

» Hoshangabad / él?"lla qQ

6) The first state to establish Panchayati Raj in 1959 was ./
1959 H YA 37T RITUT B 16T UYH I 1l
1. Haryana / giaron

2. Rajasthan / XTSTRITT

3. Uttar Pradesh / SR U=

4. Punjab / USITd

Correct Answer :-

« Rajasthan / TSI

7) The National Bravery Awards is presented annually to children on the eve of .
AR P 7 HHT W T 1 TN T8TgY [WEPR' A a1 & & rfa far s 31
1. Independence Day / oA faad
2. Republic Day / TTure faaw
3. Children’s Day / dI¢T feay
4. Gandhi Jayanthi / el St

Correct Answer :-

« Republic Day / UG faaq



T USRI T S ' HeRIR' . S A Aafia gl
1. Pristis / TOTRCH

2. Antigonia / ST

3. Tinca / fe®1

4. Tor/ TR

Correct Answer :-

. Tor/aT

9) The ideal of justice — social, economical and political in preamble has been taken from: /
TRATGAT § =ATg-ArHioe, e 3R Werifae o snexf ared sod @ e man 3:

1. Government of India Act of 1935 / 1935 % HRd WRBR HTAFATH

2. Russian Revolution / S9! ifd

3. French Revolution / WG hifdl

4. Trish Revolution / 3R Hifd

Correct Answer :-

« Russian Revolution / &1 ghifd

10) Onam is a festival celebrated in which Indian state? /

e U 35 | 3o TS ANER B 7T 4 82
1. Karnataka / -ICcdH

2. Kerala / el

3. Goa / TTI3{T

4. Tamil Nadu / afHaA g

Correct Answer :-

« Kerala / ®3dl

11) The First Loan Agreement of India with New Development Bank is for in Madhya Pradesh. /

A Y § ¥ ferg, U faeT d@ (g Saaudic 9%) & 1Y YR & U4 BUT G S fHar |
1. development and up-gradation of major district roads project / Y9 fSrer qsdh YRGS 1[I 3R IoTa

2. innovate in India for inclusiveness project / BEIERIRIECIEEIET ﬁfq URA ¥ 3ffa

3. water sector restructuring project / SI¢1 RE} 5-1*?04 TR

4. inclusive growth through improved connectivity program / YR Ffaefact HRiHH & H1egH J JAah faerg

Correct Answer :-

« development and up-gradation of major district roads project / Y9 fSrer qsdh RIS 1[I 3R ITa

12) Name the IPS officer who was awarded the ‘Ramon Magsaysay’ award for reforms in Tihar Jail in 1994. /



1994 ¥ foigTs e ® YUR M & T 09 T80 [RROR S IR STSHey HRISR &1 9 aa1st|
1. Kiran Bedi / {51 9t

2. R. Sreelekha / 3R, dieran

3. Roopa Moudgil / &1 G&Td

4. Arif Sheikh / 3TR® Qg

Correct Answer :-

« Kiran Bedi / /o34 a-c(p[

13) Name the famous Indian Scientist who was awarded the prestigious ‘Lal Bahadur Shastri National Award’ in
2011./

wfaf¥a wRedta e @1 9 Farg forg 2011 F ufaf¥a ol T1gR Tl TP [REpR' @ wRfAd e
T AT

1. Prof. Yash Pal / TV, I=1 U1

2. C.N.R Rao / &I, T. 3R. 1@

3. Dr. A.P.J. Abdul Kalam / ST. TS, 37sgd HaTd
4. G. Madhavan Nair / SiI. AT8G ARIR

Correct Answer :-

« Prof. Yash Pal / Ul I=1 UTd

14) Name the tag that has been given to the famous Kadaknath Chicken in Madhya Pradesh on August 2018. /
AT 2018 H ALAUSH H URTE Pep-1d I F fhad gy 1 four mar ure

1. FSSAI/ THUHTHTSMS

2. CARE Rating / $3R (FT3MRZ) AT

3. Geographical Indication (GI) / U Tabd (Gﬂ\’rﬂg)

4,181/ STSUHSTS

Correct Answer :-

 Geographical Indication (GI) / W Tabd (Gﬁ\?'ﬂg')

15) Minimum Support Price is recommended by which of the following institutions? /
fraferfEd # A fra SR gRT graw 94 7eu o) Rief #1 s 82

1. Food Corporation of India / YR @1 e

2. Food and Agriculture Organization / dI<] 3R ?ﬁf UL

3. Commission for Agricultural Costs and Prices / ?ﬁf AT 3R Pl & ferw ST

4, Ministry of Food and Agriculture / 4Tl 3R w AT

Correct Answer :-

« Commission for Agricultural Costs and Prices / ?ﬁf AT 3R BHIA! b [T ST



16) Bauxite is found in which of the following regions of Madhya Pradesh? /

A Yo & fuffed § 9 5w &= § aiearge uran < g2
1. Chhindwara / fé6Garer

2. Katni / el

3. Betul / S

4. Dhar / YR

Correct Answer :-

« Katni /@l

17) Which of the following rivers does not originate from Amarkantak Plateau? /

fFrafaf@a & @ $19 @ 79 srdes TR A SEfa T8 g8 &2
1. Sone / T
2. Betwa / Sddl

3. Johilla / Sfgall
4. Narmada / THgT

Correct Answer :-

« Betwa/ Sddl

18) Which of the following institutions agreed to help Madhya Pradesh financially for Irrigation Efficiency
Improvement Project? /

ﬁuﬁgaﬁﬁﬁqmwma&mgmqﬁﬁwa?mmwﬁnmﬁmw%m
HEHd B 17

1. Asian Development Bank /Q'QI'CI:T famrg %

2. World Bank / fawg % @F&c aﬁ

3. New Development Bank / =14l fawra % ﬂ@ﬁ@qﬁf a@
4. RBI / R3S

Correct Answer :-

« Asian Development Bank / TR faprg §h

19) Which of the following is an Operational Airport owned and maintained by Airports Authority of India (AAI)
in Madhya Pradesh? /

AU & YR fammraee wiitreeor (ques) g1 frefafad # @ &9 | ue uRared garg o &1
Wi 3R RaRaTa faar sirar 82

1. Khandwa / @iedl
2. Panna / U1

3. Satna / HdATl

4. Khajuraho / M9} g



Correct Answer :-

» Khajuraho / @W

20) Which city of Madhya Pradesh hosted the 62" Senior National Wrestling Championship in Nov 2017? /
weTE ¥ e Tew A Taaw 2017 § 629 TR Wita et A 3 dearh @
1. Indore / 33 N

2. Jabalpur / SISTYR
3. Gwalior / TATfeRR

4. Bhopal / T

Correct Answer :-

e Indore/ s_caT

Topic:- General Hindi

1) <dR g3 &) & 3 qrelt vrar & ol te v e A A s Ay
1. IR
2. IRUNq

3. ARUH
4, ARYY

Correct Answer :-

2) 3ST- 31 & & 1 a1 9 faeiv weg 82
1. T

2. A=

3. Sl

4. YR

Correct Answer :-

. TR

3) WdIq - & forg wel wifty faese @1 gfw)
1. g8+dlq

2. (H+AIG

3. Q+dIg

4. qMH+dIq

Correct Answer :-



2) FIR-FIYG YA AIRTR?
1. TR
2. 4R
3. TR
4. R

Correct Answer :-

5) U - BT Y TR A B ATR?
1. qHA
2. =R
3. HERY
4. H™

Correct Answer :-

6) FSAR &1 9 faug e A A s ary?
1. 99D

2. Taf&at &1 urem aran

3. Faf$al &1 ARA arett

4. fofsal &Y @M aren

Correct Answer :-

7) 3% &Y Q) 3T e - ek &1 o P RRee A A HT T2
1. ARG 1 g1 TR i qobed BT

2. AR BT

3. AT guf g

4. AT B

Correct Answer :-

- HABTHAT ot g1

8) SYRed & aHIRe e Fu i A s wre?
1. T% 1



2. SR GRI fhar gan
3. SR GRT e gan
4. SR gRI A gan

Correct Answer :-

- SR gRIfeET g

9) W - & forg wet WY fa=dg &t g
19+

2. g+

3. gH+RIY

4. JH+YY

Correct Answer :-

o 9HRIY

10) 3 - U9 ¥ T V< U A A P AT 82
1. SH<

2. 38

3. S{H-dH

4. 3l

Correct Answer :-

11) 3! - o1 Fra & @ o1 a1 gl v wg 32
1. 3SR
2. 3fIoTEH
3. 3G
4. 3T

Correct Answer :-

12) ‘YTh-Tooil @ Irar & ol 0 T Fg A A P AT /2
1. I 3ER
2. ]I

3. GSOIER
4. TMDHIERY

Correct Answer :-



13) 3T & e Wl vufgarh ara 2rsgf 1 U &1 gfu)
1. ®Y, A, d&

2. ®Y, gV, deI|

3. Y, T, I

4. ®Y, I, g1

Correct Answer :-

. DY, K, I
14) g¥ & fore Ot yataardt arat reg! $t ufdad &t gl
1. o, 3rgd, |
2. Gor, 3@, i |
3. GO, 3{YH, AT |
4. o, 3@, i |

Correct Answer :-

. gor, 3fyd, a1

15) AAUIRF A T T FE A AP ATR?
1. TR

2. TSR

3. 3R

4. 3ffoRTE

Correct Answer :-

. SRM

16) G-IUHT A ST Vg FU A A P A2

1. gd
2. I d

3. g d
4. qhd

Correct Answer :-

17) 3@ & AThd TR g g8l
W & e A A ST E ) - & A A @ 9 91 SeeR @2



1. 448 3MibR

2. ffa=TgifeR SreiepR
3. SUHT SADR

4. YifeH 3reiepR
Correct Answer :-

. Srfaaifa srawR

18) gIE 91 i< 3N< el SRR UifY,

it @it At €=t aifer aifer e 31

IR PR YURT 7 IS g,

AT oel Wl a8l AT ad W g1 - A g A IS w82
1. A% ™

2. I ™

3. YOS X

4. IV Y

Correct Answer :-

o YUHb Y

19) R W d&0 &7, 3HT@ 918 Wrd FAeRd|

died s ®R, Sifd Mg SR URd | - AP A s AT e
1. BB

2. %™

3. YT ™

4, YO Y

Correct Answer :-

. AHE

20) B gH AT LT H BIS?

TR ARV A1 $1 312 - B 1 & A 14 11 SdpR 32
1. UGE PR

2. ffA=IAf PR

3. SUHT 3APR

4. IET SABPR

Correct Answer :-



Topic:- General English

1) Choose the correct form of modal auxiliary verb for the given sentence:
I ____lend you some money if my salary has been credited into my bank account.

1. will

2. need

3. ought

4. should

Correct Answer :-

o will

2) Choose the most suitable determiner for the given sentence:
The ultimate dream of ____ car lover is to own a Rolls-Royce.
1. many

2. alot of

3. few

4. any

Correct Answer :-

3) Choose the option that correctly sequences the following sentences:

1. Vaishnavi was a blind girl.

2. It was this attitude that helped her persevere to join her favourite institute.
3. She had the 'never say die' attitude.

4. She aspired to join IIM, Bangalore.

1. 2341
2.3412
3. 1432

4. 4321

Correct Answer :-

o 1432

4) Choose the option that best explains the highlighted expression:
The two sides need to keep talking until they iron out their differences.
1. to sign a peace agreement

2. to get rid of problems that are affecting

3. to avoid confrontation

4. to meet pressing demands immediately



Correct Answer :-

« to get rid of problems that are affecting

5) Choose the option that best transforms the given sentences into one:
He met with an accident. He was on his way back home.

1. Being on the way home he met with an accident.

2. While he was on his way home he met with an accident.

3. Meeting with an accident he was on his way back to his home.

4. He met with an accident and he was on his way back to his home.
Correct Answer :-

« While he was on his way home he met with an accident.

6) Choose the appropriate conjunction for the given sentence:

Rajiv wants to work for Infosys  he is unable to meet the requirements for his role in the company.
1. then

2. but

3.and

4, if

Correct Answer :-

o but

7) Choose appropriate articles for the given sentence:
My uncle lives in ____home for ___elderly.
1.an, a

2.3, the

3.a,a

4. the, a

Correct Answer :-

8) Choose appropriate articles for the given sentence:

super moohn occurs when moon’s orbit is at its closest to Earth and at same
time it is full.

1. A, the, the
2. A, the, a

3. The, a, the



4. The, an, the

Correct Answer :-

. A, the, the

9) Choose the correct form of tense for the given sentence:

During autumn, dry red leaves ____ from the trees and ____ the ground below.
1. was falling, was littered

2. will fell, littered

3. falling, littering

4. fall, litter

Correct Answer :-

« fall, litter

10) Choose the word that is opposite in meaning to the highlighted word given below:
Her mind showed an enormous amount of agility in solving the problem.

1. inertness

2. liveliness

3. fleetness

4. adroitness

Correct Answer :-

« inertness

11) Choose the appropriate prepositions for the given sentence:
____re-election, the leader worked hard ____ his people.

1. During, within

2. After, for

3. Before, between

4. At, from

Correct Answer :-

o After, for

12) Spot the error in the given sentence and choose the option that rectifies it.
Maruthi is best car for everyday use.

1. Maruthi is the best car for everyday use.

2. Maruthi is the best car for a everyday use.

3. Maruthi is a best car for the everyday use.



4. The Maruthi is best car for everyday use.

Correct Answer :-
» Maruthi is the best car for everyday use.

13) Choose the appropriate option that changes the given sentence into passive voice.

They handed her a cheque.

1. A cheque is handed to them by her.
2. A cheque was handed to them.

3. She was handed a cheque.

4. She was handed to them.

Correct Answer :-

« She was handed a cheque.

14) Choose the appropriate option that rewrites the given sentence in active voice.
Mr. Stewart was elected Chairman.

1. Somebody was being elected as Mr. Stewart Chairman.

2. We were electing Mr. Stewart Chairman.

3. Stewart elected the Chairman.

4. We elected Mr. Stewart Chairman.

Correct Answer :-

o We elected Mr. Stewart Chairman.

15) Choose the appropriate form of the tense for the given sentence.
Three-fourth of the business left to the youngest son.

1. are
2. were
3. will
4. 1is

Correct Answer :-

16) Choose the appropriate prepositional phrase to complete the given sentence.
every effort one may fail.

1. In spite off
2. In spite of
3. Inspite of

4. Inspite off



Correct Answer :-
« In spite of

17) Choose the option with the appropriate prefix to complete the given sentence.
This assignment is ____complete and needs to be finished at once.

1. mis-

2. pre-

3. in-

4. im-

Correct Answer :-

18) Choose the option that best punctuates the given sentence:

Could I have a five kilo pack of rice said the customer

1. “Could I have a five kilo, pack of rice ?”’said the customer.
2. “Could I have a five kilo pack of rice, said the customer.”
3. “Could I have a five kilo pack of rice said the customer.”

4. “Could I have a five kilo pack of rice?” said the customer.

Correct Answer :-

o “Could I have a five kilo pack of rice?” said the customer.

19) Choose the correct form of verb that is in agreement with the subject:

How ___ people earn their living when there ___ so much snowfall all year round?
1. does, is

2. are, are

3. have, is

4. do, is

Correct Answer :-

e do,is

20) Choose the correct form of the verb from the following options in the given sentence:
My sister has offered to my pet dog while we are away on a holiday.

1. look into

2. look through

3. look after

4. look at



Correct Answer :-
« look after

Topic:- General Mathematics

1) The speed of B is greater than the speed of A. The total speed of A and B is 7 km/hr and the total distance
travelled by A in 4 hr and B in 3 hr is 24 km. What is the speed of A and B? /

B @1 A, A B U0 A 3fUB 31 A Td B B oot e 7 frifi/aer 8, SUTA S gRI4 e IR BFH gRI3 e Ao
PR pagi 4 fFfigiaTdpFa@wrn

1. A=2 km/hr, B=5 km/hr
2. A=4 km/hr, B=3 km/hr
3. A=3 km/hr, B=4 km/hr
4. A=5 km/hr, B=2 km/hr

Correct Answer :-

e A=3 km/hr, B=4 km/hr

2) A discount of 30% is announced on the marked price of a table of Rs. 2250. What will be the sales price of the
table? /

2250 TUA & Sifdrd YT aTell TP B UR 30% Qe Dt 90N $1 1S 3| A &1 fasha ged F1 ghm?
1. Rs. 1625 /1625 %4
2.Rs. 1575/ 1575%UQ¢
3. Rs. 1475/ 1475 %44

4. Rs. 1520/ 1520 34U

Correct Answer :-

« Rs. 1575/1575%UU

3) A boat travels at a speed of 18 km per hour and brings 540 kg of fish in one trip. The number of trips required
to catch 43,200 kg of fish is .

TS 19 18 fpH ufa 9 &) ara | I FId @ 3R TP alR H 540 fP AU waferar ardl 81 43,200 e
Hofral yhea ¥ iU smawas R &) e gl

1. 80

2. 300
3. 2400
4. 30

Correct Answer :-

« 80

4) Calculate: (-16) + (+8) and (+8) + (-2) /



TMOTET B (-16) + (+8) 3R (+8) + (-2)
1.-24 and 6 / -24 3R 6

2. 24 and -6 / -24 3R -6

3.8and 6/8 3R 6

4. -8and 6/-8 3R 6

Correct Answer :-

. -8and6/-8 3R 6

5) The solution of equation 9x + 3 = 0 is a/an i
THHT 9x + 3 = 0 BT §A TP 2l

1. natural number / W T

2. rational number / TRUT T&AT

3. negative integer / BUNHSD W

4. imaginary number / P T

Correct Answer :-

« rational number / TRET T-HT

6) There are 45 electric bulbs in a box out of which 20 are defective. If one bulb is chosen at random from the box,
then what is the probability that the chosen bulb is defective? /

T 99 A 45 faorelt & gow & o | 20 Slugof €1 afe 96 & A arefe U A ve Ied g1 9161 8, 9 1
wiRear g for g1 T e gruyguf 32

WO |

W | LA

L | e

e | e

4.

Correct Answer :-

7) A perfect square is obtained by multiplying the smallest number with 486. Find the square root of square thus
obtained. /

486 & AT Th AYAH ST P UM HP TH YOI o UTed 501 SI1am 8 1 59 UHR UIed a¥f o1 a3 ga 91 He |
1.24

2.48



3.54
4,26

Correct Answer :-

. 54

8) 8 pipes are required to fill a tank in 2 hours. How long will it take if 5 pipes are used? /

24 H TS ¢ DY WA & T 8 UTSUl oY A=t g1 § 1 5 UTSUl T YA 6 R a1 wwa ainm?
1. 3 hours 12 minutes / 3 ¥¢ 12 ffFe

2. 3 hours 48 minutes / 3 ¥¢ 48 fi e

3. 3 hours 4 minutes / 3 °¢ 4 fiFe

4.3 hours 36 minutes / 3 ©¢ 36 e

Correct Answer :-

« 3 hours 12 minutes / 3 ¥¢ 12 e

9) A plane is flying at the height of 6000m above the sea level. At a particular point, it is exactly above a
1

submarine floating at 4th of the height of plane below the sea level. What is the vertical distance between the plane
and the submarine? /

wﬁnﬂ,wwﬁsoooﬁaaﬁﬁﬁwww%wﬁﬁwﬁgw,ugwaﬁ%?ﬁﬁnﬂaﬁiﬂ
TS R TP Rl Tigsdt A 319 SWR 8 | I 3R uget & & daaa g Fun 82

1. 7000m / 7000 HIeX

2.7750m / 7750 HicR

3.7250m / 7250 HicR

4.7500m / 7500 HIcX

Correct Answer :-

« 7500m / 7500 HICX

10) Some toys were distributed equally among 18 children in such a way that the number of toys each child gets is
equal to the total number of children, and after distribution 6 toys are left out. What was the total number of toys?
/

$o fAdA $ 18 T & 99 39 TR TUH w0 A faafka far man % vde a1 & f[aa ) wen g=i
B o U P IR gl & TF Iarvr & a1g 6 FAea A9 79 wra &1 (@l 1 pa wen o 4

1. 330
2.320
3.336
4,324

Correct Answer :-

« 330



11) In a box of volume 40 cm cubes, how many cubes of sides 2 cm can be fitted? /

40 T O ST 9T TS ST H, 2 1. A1 arel fas o= o 39H 31 o wedT 82
1.5

2.2

3.20

4. 800

Correct Answer :-

12) A wire is in shape of a square of side 15 cm. If the wire is re-bent into a rectangle of breadth 5 cm, then find
the length. /

TS dR 15 QU Yo 910 TP a1 & SR | g1 afe IR 3 [7: T 5 A ST 910 TP 3Md & AThR |
YHTIT T4 8, @ 3HS! T8 91 B

1.20 cm /20 T
2. 12 cm/ 12
3.15 cm/ 15 9
4.25 cm/ 25 9

Correct Answer :-

. 25cm /25 99

13) Which one of the following numbers is the greatest? /
Frafafe # @ o9 @ Seraaa s 32

1. 7092

2.7290

3.7029

4.7920

Correct Answer :-

« 7920

14) Which one of the following points lies on the III quadrant? /
fFrafafaa & @ o1 w fig, aguf m w fRa g2

1. (-5,-6)

2. (4,-3)

3.(3,1)

4.(-3,2)

Correct Answer :-



15) A tank 72 cm long, 60 cm high and 36 cm wide contains water to a depth of 18 cm. A metal block 48 cm by 36
cm by 15 cm is put into the tank and totally submerged. What is the rise in water-level? /

72 A €9, 60 A S 3R 36 A NS TP F A 18 TH P TGS dP UTHI 1 48 A 709, 36 A FA, 15
I NS YT F TP ThS P b A STAT 1T ¢ &l P a¥e A g o1 ¢ | Ut & R A fhasit getas) gl 82

1.20 cm /20 9H
2.10 cm / 10 IH
3. 40 cm / 40 IH

4.30 cm / 30 I

Correct Answer :-

« 10 cm/ 10 IHY

16) Solve: /el hifalT:
(-5 (-3)f= (5

. B
(-5P°
3. 517
4. 5P

Correct Answer :-

(5}

17) Subtract 4a? — 11ab + 7b? from 6ab —4a — 8b% /
6ab — 4a2 — 8b2 I ¥ 4a2 — 11ab + b2 &I HeTd|

-5ab - 15b?

, 8al—17ab + 15b2
3. —15b2 +17ab —8a?
4 Sab+b?

Correct Answer :-

. —15b?+17ab —8a?

18) Simplify: / el @
(@™*b)"*(ab)*(ab™®)7?



4, @b

Correct Answer :-

19) Solve: /gl $hIfaT:
(32x23)

1. 398688256
2. 398778554
3. 345688227
4. 352765752

Correct Answer :-

» 398688256

20) Give the expression for the following:

*is multiplied by 128 and the product obtained is subtracted from 360 /
frafafea & foreg sivre sang:

* Y 128 T U T ST B 3R UTW YUFTEHE B 360 W HESTAT TR
1. (360 — 128) x *

2.128 - 360
3.232F

4.360 - 128"
Correct Answer :-

. 360 - 128"

Topic:- General Science

1) Epithelial tissue : body lining :: Muscle Tissue :
SUHAT Hdb : IR 3R 2 U Hd : |

1. Electrical transport / aa:ﬁﬁ ufRagd

2. Transport of food and oxygen / WIS 3R TR &1 ulkagH
3. Motion / TTfd

4, Support and padding / 3TYRR 3R afET

Correct Answer :-

e Motion / Tfd



Atomic number of Clis 17 and mass number is 33. Calculate the number of neutrons (Ng),

protons (Np) and electrons (N.) in the ion formed from it? /
C1 & AW TEAr 17 § 3R cead e T 3581 56§ 3 A st (Na),
HielT (Np) 3R soFear (N.) 1 S ar 7 aorar #32

1 No=17,Np=18, N:=18

5 Non=18Np=18, N.=18

3, No=18, Np=17, Ne=18

4, No=18, Ny =17, N.=17

Correct Answer :-
Np=18 Np=17, N:=18

3) A body just floats in sea water but sinks in river water because: /
o T Y ST AT & AT A O & < oy 8, it
1. Sea water has lesser density than river water. /
HHET ST T FTcd, TET T sl AT H FH 21 3
2. Sea water has greater density than river water. /
THGT ST T T, T4l o ST il qaAqT § ATF Frav g
3. Sea water exerts less upthrust on the body than river water. /

T ST, ThTer O &1 3 S 7 AT | FH I A

4, River water is more contaminated than sea water. /
TE AT ST, AAT ST F STTAF T gram g
Correct Answer :-

« Sea water has greater density than river water. /

TS ST T T, TT o6 ST ol AT | SATF grav g

4) The number of daughter amoebae formed from three successive binary fissions of the parent amoebais____ ./
Hrar-fiar srdiar & @ T AR ey (arg=Y) fads | &+t ST (Siex) orfiar 1 I=mn
 wdre

1.8

2. 16

3.4

4.6

Correct Answer :-



Water borne diseases can be prevented by which one of the following suggestions? /
frafafea # 9 5 ve gema gR1 sawi=ra 90 S DT S THdl 72
1. By holding a hand kerchief near the mouth while coughing./
W & ERM 48 W Ue THE TG |
2. By providing safe drinking water./
RI&T TooTd Ue™ axb |
3. By preventing exposure to overcrowded places. /
e WS- HIS arel R TR 3FTERUT 1 YU &Y AHHR |
4. By preventing mosquito breeding in the neighbourhood./

TS ¥ U3 & Ui B ASHR |

Correct Answer :-

By providing safe drinking water./

R TgoId UeH aRb |

6) Which of the following is not a part of the alimentary canal of man? /
frafafad § @ S 99w B 3eR T &1 v e T 82

1. Wind pipe / IR

2. Intestine / 3fTd

3. Oesophagus/ﬂm:ﬁﬂ

4. Rectum / HARY

Correct Answer :-

« Wind pipe / Y1 =Tc!

7) Animal feed which is low in fiber and contains relatively high levels of protein is called ./

T3[3Ht BT Ui, ForTd w1 BIga SR SUATPa ST TR AWM AR, SH__ ded gl
1. milk producing food / G JcTiad HIoH

2. micro nutrient / J&H OIS

3. roughage / ATeT IRT (Yol

4. concentrate / I (BIA<¢C)

Correct Answer :-

+ concentrate / dlx @TT\‘:I%AE')

8) On a distance—time graph, after every two hours the graph is a straight line parallel to the time axis for 15
minutes. It shows that: /

%i%www,iﬂa’rﬁz’f%mw 15 e & fore T 31 & JHTHTGR e W Y@ glar 81 98 =ifar



1. The vehicle is at rest for 15 minutes after every 2 hours. /
T 2 U¢ & 916 d1eH 15 e 3 forg form wR s &

2. The vehicle is moving with a constant speed for 15 minutes after every 2 hours. /
qTE U 2 °e & a1G 15 e & e Thgdm 9rd 9 9 @1 6|

3. The vehicle is decelerated for 15 minutes after every 2 hours. /
e B UUS 2 °C P a1& 15 e & foTw SR a1 Afed fova S 3 |

4. The vehicle is accelerated for 15 minutes after every 2 hours./

T8 B AP 2 U & 91 15 e & forw afia frar Srar g1

Correct Answer :-

» The vehicle is at rest for 15 minutes after every 2 hours. /

Ud® 2 °¢ P 91 dTed 15 e & o foRm R smar g1

9) The examples of non-contact force are: /

R-HUS T P IaTeR0 1+ 3

1. Gravitational force and muscular force / ‘I\’ﬁﬁ'q ¥ 3R U= 9
2. Gravitational force and magnetic force / W’q I 3R W EN|
3. Frictional force and gravitational force / i 5 3R W’q ofct

4. Muscular force and frictional force / U=TT & 3R Teff &/

Correct Answer :-

« Gravitational force and magnetic force / WU I 3R W EN}

10) The four metals generally used for electroplating are: /

STHAR R fagyq au aserafem & e sxaura giA arelt IR urge fA=1 &
1. Copper, gold, zinc and iron / WV'CIT, @:ﬂ, i 3R SRA

2. Sodium, zinc, gold and copper / T STH, i, T 3R HIR

3. Chromium, zinc, sodium and copper / ﬁﬁl’qtf, W, ST 3R BIW

4. Chromium, zinc, gold and copper / aﬂﬁuﬂ, ﬁﬁ, T 3R HIR

Correct Answer :-

 Chromium, zinc, gold and copper / Py, fSie, a1 3R BIR

11) If one kilogram of sand is heated to 90°C and put into water at 30°C, then what will happen to the temperature
after half an hour? /

I v P ¥d &1 90°C dP TRH fHar S1d1 @ 3R 30°C WR U § ST faar sirar g, ) 3d) 9 & 91
ATTHT BT T g2

1. The temperature of sand will be less than the final temperature of water. /

Id BT dgHH, Tt & 3ifdH daH= I &H g



2. The temperature of sand will be greater than the final temperature of water. /
Xd D1 AIIHM, U1 & e daToH= F $fde grm|

3. The temperature of sand and water will be the same. /

I 3R U BT ATgH JHH BRI

4. The temperature of sand first decreases and then increases. /

d T d9HH Ugd "edl g 3R R dgar g1

Correct Answer :-

» The temperature of sand and water will be the same. /

I 3R U BT ATgH JHH BRI

12) Solutions in which the size (diameter) of the particles lies between 1 nm and 100 nm are known as: /

faera=r forH SN &1 3TPR (@) 1 nm 3R 100 nm & T 181 3 HgaTd &
1. Colloids / BT (PIAZS)

2. Suspension / e (TU=M)

3. True solution / Y& faea

4. Tsotopes / THRT®

Correct Answer :-

« Colloids / BT (PIARS)

13) If an organism can be cut into two identical halves in a single plane of division, then the organism is said to be:

/

gfe te oita, RUTS & thd 9a | S 90 HS| | BIeT off 9&dl 8, df 39 oid 3t (= Hgd &:
1. Radially symmetrical / B GRSLIER]

2. Asymmetrical / A

3. Transversely symmetrical / STTUR| A

4, Bilaterally symmetrical / feured-wHfia

Correct Answer :-

. Bilaterally symmetrical / fgUTSd-GHfHd

14) When does the land breeze occur? /
¥ WY B9 et 82

1. During the night / XId F IRM

2. During the day / fea® E?ITI:T

3. Throughout the day / ‘:I3 faq

4. Once in a week / 80 H U IR

Correct Answer :-



« During the night / Jd & GRM

15) Pasteurized milk can be consumed without boiling as it is free from harmful microbes. During the process,
milk is heated to about ./

UTRGEpd gU B SaTd 3T +ft SuHRT foman o1 wavar g wife a8 sTHeRS Siidl & gad gia1 g | ufshar &
SR, Y B AT W TRA fHar S 81

1. 100°C for 1 to 3 minutes / 1 ¥ 3 fiFe & foIT 100°C
2. 70°C for 15 to 30 seconds / 15 ¥ 30 YHUS & T 70°C
3. 50°C for 5to 10 seconds / 5 T 10 W@r%ﬁm 50°C

4. 90°C for 15 to 30 minutes / 15 ¥ 30 fiFe & faIQ 90°C

Correct Answer :-

« 70°C for 15 to 30 seconds / 15 ¥ 30 YHUS & ¥ 70°C

16) Which of the following is a correct example of fire extinguisher? /
Frafafaa 9 & =19 1 sl o1 a8 Sar v e?

1. HCI

2.CO

3.CO,

4. N02

Correct Answer :-

. CO,

17) Which of the following is a physical change? /
Frufafea & @ o9 Wt Hifos aikad= 82

1. Volcanic eruption / \rdlﬂltl,@lnl HI I

2. Rusting of iron /Fﬁ%ﬁ\_ﬂﬂm
3. Formation of curd /aﬁﬁﬁlﬂ:ﬂ
4. Melting of ice / % 1 fUraan

Correct Answer :-

« Melting of ice / % H1 fUraan

18) Which of the following is not an example for noise? /
Frafafea & & o9 91 ve AR & e Igrewor 8 37
1. Sound from explosion ) fowpie ¥ 9=

2. Sound from factories / HREM! I @

3. Sound from vehicles / A8 ¥ @



4. Sound from musical instruments / I77Id aTEd=ll 9 a4

Correct Answer :-

« Sound from musical instruments / GTId AT F eafy

19) Which one of the following statements is NOT CORRECT for the boiling point of a liquid? /
TP IRA &b YA P fog Fafrfad s § & o9 91 TP w6l 781 82

1. It depends on the nature of the liquid. / Ug dXcl @I W R ﬁf'l-h' Hdl %I

2. It depends on the purity of the liquid. / Ig dX¥dl Gl R&dT IR AR o % |

3. It depends on the room temperature. / g H S dIaE R R Har %I

4. It depends on the atmospheric pressure. / g Wﬂ'ﬂ@?ﬂq TE R AR Har %I

Correct Answer :-

« It depends on the room temperature. / g PR P dgHHE W AR Har % |

20) (Calculate the formula unit mass of NazC03.10 Hz0. [Given atomic mass: Na=230u, C=12.10
u,0=160u,andH=10u] /

Na2C03 & SegAlT SHIS & A ! a0l &I [ &A1 IR WA Ged#A T : Na=23.0
1,C=120u, 0=160u, H=10u]

1. 124 u
2.286u
3.426 u

4.254u

Correct Answer :-

e« 286u



